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Question: 1

Which security solution protects against zero-day attacks?

A. DDoS protection
B. advanced anti-malware
C. content filtering
D. Application Layer Gateways

Answer: B

Question: 2

Which three statements about Sky Advanced Threat Prevention are true? (Choose three.)

A. Dynamic analysis involves unique deception techniques.
B. Machine-learning algorithms are enabled to adapt to and identify new malware.
C. Rapid cache lookups are used to quickly identify known files.
D. Files are flagged for next-day analysis for certain malware types.
E. It uses a single, best-in-class antivirus engine.

Answer: A, B, C

Question: 3

Your client modifies an event script and needs to update 100 SRX Series devices with this new script.
They want to use the refresh-from parameter to refresh the script from a centralized location.
In this scenario, which three protocols would you use to accomplish this task? (Choose three.)

A. HTTP
B. SCP
C. TFTP
D. FTP
E. CIFS

Answer: A, B, D

Question: 4

You are asked to implement a new application to share documents with trusted external
organizations while minimizing the risk of an attack that would enable access to other enterprise
systems.
In this scenario, which two locations would you recommend to deploy the application? (Choose two)
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A. public cloud
B. management VLAN
C. enterprise LAN
D. enterprise DMZ

Answer: A, D

Question: 5

You are designing a WAN solution for a small service provider. The service their customers.
Which two solutions should you include in your proposal? (Choose two.)

A. BGP flowspec
B. remote triggered back hole
C. intrusion prevent en system
D. unified threat management

Answer: A, B

Question: 6

Your customer is purchasing another company. They must establish communication between the two
corporate networks, which use an overlapping IPv4 address space. The customer knows they must
deploy some of Network Address Translation (NAT).

A. destination
B. source
C. persistent
D. static

Answer: D

Question: 7

Which component of the Juniper NFV solution architecture acts as the VNF manager?

A. Meta Fabric
B. Service Control Gateway
C. Contrail
D. vSRX

Answer: C
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